Question One

Name of School: Penang Sangam Primary School

Year: 7

Subject: Mathematics
Worksheet: 1 — Solution

a. b. C. d. e.
45673 7235 203.92 614870 = 600000 82
+ 28997 X 49 -45.67 10000 gj 738
74670 65115 158.25 4000 72
-15759 +289400 800 18
58911 354515 + 70 18
614870 -
Question Two
a. b. C. d. e
I- thirty-nine I- thousands
thousand, six
hundred and 447,519, 635, 828, | 9094, 8080, 7403,
seventy-two ii- tenths 967 6009, 5001
ii- sixteen
thousand and two
HT Ot h
Question Three
a. b. C.
36 15
950 x_12 600) 9000
= 167 72 - 9000
183 sheep + 360 -
432 cans of juice
d. e. f.
56 i- $45.00
X+10=22 3) 168 x 12
X+10-10=22-10 - 15 $540.00
Xx= 12 _18
-18 1i-$540.00
12 x 2 = 24 books - X 5
$2700.00
I- 55
i 57 iii-$540.00
X 10
$5400.00




